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Organizational Structure

[FL]. Today we will be culminating our discussion on Organizational Structures which is

week 3 or module 3 and this is lecture 5.

(Refer Slide Time: 00:30)

In the previous lectures we have spoken about the basic challenges of organizational design,

designing organizational structure, authority and control, organizational structures, types of

structures and contemporary design structures. Today we will culminate our discussion by



discussing two more topics which is why do structures differ and the information sharing

perspective on structure.

(Refer Slide Time: 00:54)

So, this is what we will be discussing today.



(Refer Slide Time: 01:01)

Now, why do organizations organizational structures differ? We have been discussing in

week 2 as well as in week 3 about the impact that that the environment has on organizational

structure and design. So, have we will continue with that and we will now try to culminate

our discussion on how ny structures across organizations change and even within the same

organization how do they change over time.

We have discussed the two basic models which is the mechanistic and the organic, where the

mechanistic structure is characterized by centralization, high standardization, strict

formalization, management hierarchy, extensive stratification, departmentalization, limited

information network, narrow span of control, and a tall structure. 

And the organic model has been characterized by decentralization and participative decision

making, low standardization low formalization, lesser specialization and stratification, large



and free-flowing and comprehensive information networks, broad span of control and a flat

structure with cross hierarchical and cross functional teams.
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So, this is what we see as the two models where we see the mechanistic model with high

specialization, rigid departmentalization, clear chain of command, narrow span of control,

centralization and high formalization. And at the other hand we have the organic structure

with cross functional teams, free flow of information, cross hierarchical teams broad span of

control, decentralization and low formalization. 
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Now, why do some organizations structure themselves on the mechanistic model and why do

some others follow the organic model? Now, to this leads us to the determinants of an

organization structure which is a strategy, size, technology, environment and institutions. So,

far we have been emphasizing upon the role of the environment. 

Today we will move beyond and discuss how strategy, size, technology and institutions also

have a role to play in you know have a role to play when it comes to decisions pertaining to

organizational structure and design.
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So, let us first start with strategy. Now the organization strategy is an important determinant

of the structure. The strategy dimensions which affect structural design are innovation, cost

minimization and imitation. So, if we look at the first dimension which is innovation strategy.

As a strategy it focuses on the creation and launch of new product offerings.

So, the question it addresses is, to what extent does an organization innovate? The second

dimension you know you know which set second strategic dimension which affects structural

design is cost minimization strategy. As a strategy its cost minimization strategy strongly

controls costs and does not allow unnecessary expenses to be related to R and D marketing or

others. 3.40

So, the question is with respect to what extent does an organization minimize cost? The third

is imitation strategy. It is a strategy wherein the company tries to minimize risk and maximize



profit by selling new products or venturing into new markets only after the innovator or the

first mover or some of the organization has done so and attained success.

So, the question that pertains to this as a strategy is to what extent is the organization and

imitator? So, we have these three dimensions ok, which affect structural design. One is the

innovation strategy which pertains to the question to what extent that the organization

innovate. Second is the cost minimization strategy which pertains to the question to what

extent does an organization minimize cost?

And the third is imitation strategy which pertains to the question to what extent is the

organization and imitator? Now, these are three you know strategy dimensions which affect

structural design. 
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Now we also talk of porters generic strategies, ok. Porter spoke of the low cost business level

strategy wherein he emphasized upon exerting stringent controls over existing and current

activities and weaker controls over new ventures. The second is the differentiation business

level strategy.

Which emphasizes upon creating expensive high quality products aimed at specific market

segments. And the third is a focus strategy which entails concentrating all the organizational

resources on a single market segment.
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Now, if we relate these strategies to the structural option. We have innovation ok, as one of

the strategic dimensions. If innovation is one of the strategies and with which the

organization would like to adopt, if innovation is adopted as a strategic dimension then the



structural option which is more suitable would be an organic structure, a loose structure, low

specialization, low formalization, high amount of decentralization.

On the other hand if cost minimization is a strategic dimension in that case a mechanistic

structure is more suitable because it believes in tight control, extensive work specialization,

high formalization and high centralization. And if imitation is a as is a strategic dimension

then it has to be a mix of both mechanistic and organic.

So, it is a mix of loose with tight properties. Tight controls over current activities and loose

controls over new undertakings or new ventures. So, this is what you know this is how we can

relate the strategy to the structure and this particular this table here clearly showcases the

strategy structure relationship.

So, when a strategic dimension is innovation go for organic, when it is cost maximization

sorry, cost minimization when it is cost minimization go for mechanic and that it is imitation

go for both. 
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So, here what we see is that how we can relate organizational structures with business level

differentiation and low cost strategy. So, we can see here that if the organization decides to

you know adopt a differentiation strategy then a matrix structure and a product team structure

is more suited. And on the other hand if it wants to adopt a low cost strategy, a functional

structure and a product market or geographical structure is a more suitable one. 

Now you know a differentiation structure sorry, a differentiation strategy would entail

decentralized decision making, high differentiation high integration complex structures. And

so what we are actually speaking of is an organic structure. On the other hand a low cost

strategy which would mean centralized decision making, low differentiation, low integration,

mechanistic structure and so what we are talking of is a simple structure.



So, you can see here that you know when organization decides to adopt a low cost strategy, a

simple structure will do centralized decision making will be can be suitable low

differentiation, low integration will be needed and a mechanistic structure can be adopted.

But when it decides to go for a differentiation strategy it required decentralized decision

making, it would require high levels of differentiation and integration a complex structure

and. 

So, what it needs to adopt is more of an organic structure. Now differentiation strategy and

organic structure also relates to product team structure and matrix structure. And similarly

you know low cost strategy relates to a mechanistic structure and again relates to product

market or geographic structure or a functional structure. 
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The second determinant to organizational structure is size. The size of the organization affects

the structure. Organizations with a large number of employees will have more specialization,

more departments, also the number of vertical levels will be high and there will be more

formalization more rules more regulations.

However, as the organization begins to expand more and more size becomes less important as

a determinant for structure. 

(Refer Slide Time: 09:41)

The third determinant of structure is of technology. So, technology is indicative of the manner

in which inputs are transformed into outputs, organizational structures must be designed

keeping technology in mind. Also existing structures may need to be changed because of

changes in technology. Particularly relevant in today’s day and age. 



In case in cases where organizations adopt routine technologies, a mechanistic structure is

feasible. But if organizations use and adopt if the organizations adopt and use non routine

technologies or emerging technologies or advances in technologies then the organization

structure will be more appropriate and more feasible.

(Refer Slide Time: 10:27)

The fourth is environment. So, an organizations environment refers to the various forces in

external to the organization that affects its affects its functioning. We have been talking about

the environment in the past few weeks. So, the environment in which an organization

operates affects its structure and as forces in the environment change organizations may also

require restructuring. 



So, these three dimensions of organizational environment capacity, volatility and complexity.

And we see that organizational structure would vary across stable and dynamic environments.

(Refer Slide Time: 11:03)

So, a capacity refers to the extent to which the environment helps and facilitates growth. You

have rich and growing environments which help create extra resources which can be used by

the organization during times of shortage. Volatility refers to the extent of instability in the

prevailing in the environment.

So, a dynamic environment together with unpredictable change creates difficulty in making

predictions. And today because of rapid change environments are becoming highly volatile. A

complexity is the extent of heterogeneity and concentration amongst environmental forces.



So, in simple environments you know the forces are homogeneous and concentrated. But in

complex environments they are heterogeneous and dispersed.
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And, so we have a scenario here where the environment is characterized by scarcity,

dynamism and complexity. In such cases the suitable structure is one which is organic. And

then you have environment which is characterized by abundance, stability and non

complexity in such cases the suitable structure will be mechanistic.

So, what we see are two scenarios here that when there is when the environment is

characterized with by scarcity or dynamism and dynamism and complexity the structure

which is suitable is an organic structure. And when the environment is characterized by

abundance, stability and non-complexity which means simple environments the structure

which is suitable is a mechanistic structure.



So, you can clearly see here that we have you know capacity, complexity and volatility. As

these three components and you have the capacity which can be which can on a continuum be

abundant or scarce. Complexity which on a continuum can be simple to complex and

volatility which on a continuum can range from stability to dynamism. 

And when the environment is characterized by scarcity, by complexity and by scarcity the

preferred structure is an organic one. When it is characterized by abundance stability and non

complexity the preferred structure is a mechanistic one.
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The fifth determinant of organizational structured institutions. Institutions refer to cultural

factors which acts as codes for acceptable and appropriate behavior. The structure of an

organization is also affected by the codes of conduct by the codes of acceptable behaviour it



is affected by institutions. So, examples can be regulatory, pressures, fashion, fads, trends,

etcetera.
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They also affect the structure of the organization. So, the strategy the size, the technology, the

environment and the institution they have an impact on structural design whether an

organization would go for a mechanistic design or an organic one. And they the structural

design affects performance and satisfaction. Of course, it is moderated by individual

differences and by cultural norms.

So, the strategy size technology environment institution determines structural design which

affects performance and satisfaction. Of course, performance and satisfaction is moderated by

individual differences and by cultural norms.
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Lastly we come to information sharing perspective on structure. We will talk of linkages here

horizontal linkage and vertical linkage. Linkage is defined as the extent to which an

organizational elements communicate and coordinate with each other. So, the extent to which

organizational elements communicate and coordinate with each other defined the linkage and

this is how daft explains what linkage is.

So, organizations must be designed such that there exists mechanisms for information flow

both horizontal information flow as well as vertical information flow. As this would mean

achievement effective achievement of objectives. So, organizations must be designed such

that there is a information flow both horizontally and vertically in the organization.

You know and this would mean achievement of objectives, accomplishment of objectives.

But in reality there exists an inherent tension between the horizontal and vertical mechanisms.



Why? Vertical linkages the objective is control, horizontal linkages the objective is

coordination and collaboration. Remember our discussion on horizontal and vertical

differentiation where we said that in vertical differentiation the objective is control and

hierarchy. 

But in horizontal it is more to do with coordination and collaboration. So, the same horizontal

and you know the same philosophy behind horizontal and vertical differentiation. Also,

comes in here where we see that in horizontal linkages the objective is coordination and

collaboration, but in vertical linkages it is more about hierarchy and control.

(Refer Slide Time: 16:19)

So, the choice today between is organizations today is between traditional organizational

orientation versus a contemporary learning organization, ok. The traditional organizational



orientation the goal was efficiency and this was important with respect to vertical

communication and control, ok.

And on the other hand contemporary learning organization the goal is learning and adaptation

where we give a lot of importance to horizontal communication and coordination, ok. So, the

ultimate choice that organizations must make between the vertical linkage and the horizontal

linkage also relates to a choice between traditional organizational orientation versus

contemporary learning organization.

In the traditional organizational orientation the goal is efficiency. And a lot of importance is

given to vertical communication and control. But in a contemporary learning organization the

goal is learning and adaptation. Adaptation to the environment and a lot of importance here is

given to horizontal communication and coordination. 
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So, if you see here in terms of the organizations designed for efficiency vertical organization

vertical structure is dominant. Specialized task, strict hierarchy many rules and regulations,

high formalization, vertical communication and reporting systems, few teams tasks and

integrators and centralized decision making. 

And then you move to the horizontal organization or the learning organizations designed for

learning where horizontal structure is dominant. Shared tasks, empowerment relaxed

hierarchy, very few rules and regulations, horizontal face to face communication, many teams

many task forces and decentralized decision making. In the case of the vertical organization

there are few teams, task forces and integrators. 

But in the case of horizontal you have many teams empowered teams and task forces. So, this

is the difference which you can observe.
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So, ultimately the you know it is all about efficiency versus learning outcomes. In a vertical

information sharing information linkages are created to facilitate coordination and control

between different levels in the organization. But in and vertical in a linkages are created you

know between the top and bottom levels and these linkages exist for facilitating of facilitating

coordination of activities. 

And for control mechanism for vertical linkage could be in the form of hierarchical reference,

chain of command, rules as well as vertical information systems in the form of periodic

reports, memos, orders, etcetera.
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But if we look at the horizontal information sharing the information linkages are created to

facilitate communication and coordination. The linkages exist horizontally across

departments for facilitating coordination and communication. And such linkages help

overcome departmental barriers, people cut across different departments they work together

to achieve organizational goals and the mechanisms include cross functional information

systems, task forces, full time integrators, teams, etcetera.
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So, if you see here the cost of coordinating in time and human resources on the x axis and the

amount of horizontal coordination required on the y axis. You see that we start with

information system which is low and we move to teams which is highest in terms of

coordination required, amount of coordination required as well as the cost of coordination in

time and human resources.
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So, finally, we come to the relationship of structure in terms of the different kinds of

organizational structures which we studied vis a vis the efficiency versus learning. So, in the

vertical linkages and vertical organizations the focus is on control, efficiency, stability,

reliability.

So, you have a functional structure or functional with cross functional teams and integrators

which will which can be really helpful. But when we talk of horizontal linkages, when we

talk of horizontal differentiation and linkages, where we talk of coordination, learning,

innovation and flexibility over there we see that matrix structure, horizontal structure and

modular structures are more useful.
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So, in terms of structure alignment managers must actually bring about a balance between

vertical control and horizontal coordination. Vertical control will lead us towards efficiency

and stability, horizontal control leads towards learning innovation and flexibility.

So, while we talk of this we also have to take care of structural deficiency and ensure that

organizations are open to symptoms of structural deficiency. Managers must monitor the

environment from time to time and see if there are any structural deficiencies the common

symptoms of structural deficiency are delayed decision making, absence of innovations, lower

performance of employees and conflict.

And necessary changes must be made to the organization structure to fight these you know

symptoms and to create a good fit with the environment.
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So, with this I come to an end of week three these are the references. 
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We will begin with a new topic next week till then.

Thank you, bye.


